3. Based on the problems above, w

hat type of triangle is formed with side lengths that satis
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4. Do the side lengths given below satisfy the Pythagorean Theorem? Remember to distinguish between
legs (shorter sides) and the hypotenuse (longest side) and enter them mto the equation correctly.

lﬂa. 11, 60461) /’"‘-"- | b. 2,46 i} 1
Frou ™ 61” WS = RIGh ey w 0T \ \
121 +3Lce =372l / [1:}16\ “‘JI\‘_'A . “ —’L N \ ?\\ﬁ\l\ A

RTEL*FALI N C
c. 14@0\48 - —t 4 13(\/" 10;)

! U{J/yamghM\ (e (=)

" 7‘)64. | v (-1 = I
[ /L"){ ‘u Iu—'\gu \[

e. 2,4, an@‘- F 53_6,@
:—- 1 '__,_-—-——""_—_'__‘-__-__-h
Zlﬁ\_il_,:"- —;))‘_ A .- = " I’S’ \LO (6‘,
Helbs 2\1{: v (,,S_ @lghf A 297367 kY
?-g_,'—?l_,‘j

lo| =G

5. Mr. Garcia then asks the class, “What if the tick marks in Lucy’s picture are each 2 cm instead of 1 cm?

What are the measures of the side lengths that form the right triangle? Do they satisfy the Pythagorean
Theorem?”
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6. What if the tick marks in Lucy’s picture are each 3 cm? 0.1 cm? 10 cm? What are the measures of the
side lengths that form the right triangles given these different scales and do they satisfy the Pythagorean
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